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Final Exam Review Sheet

" Families of Functions

1. List at least three other names for each of the following...

x-values y-values
deptai-e ra.ng‘c.
indepenstead |  dependerdh
pot oofpot—,
oo | _ &\M\Mcd&i
2. Give the coordinates for the points graphed on the'grild below... .
G
F(-%, 4 ) Fi s
(30
O(a3 , - 2
G(yy . ) ,
<—575—44 2 1 4 ti
R

3. Mr. Cravotta is a busy man! He started out with a list of 3 students he needed to meet with
today. Each hour that passes by, two students were added to his list. Use this situation to

answer the following questions...

. a. What is the independent variable? b. What is the dependent variable?
Ling, (hm\fs\) + of s%uﬂfir\:}'s on
| —the st
c. Complete the table.
o o | 1 T 2 s T T 6
| J —
] 3 S 9 | | s

d. Isthisa functlon? ‘Why or why not?
Yes because  eack-tng ol (elwﬂ\) 1% Pmm_d

ol ecactly an. atpot frarge)




N
%

4. Nicole went to the mall with $57. Every time she goes into the store, she spends $9. Us this"‘e-.._
situation to answer the following questions. S

a. What is the independent variable?

#of Shes vieded

c. Complete the table.

b. What is the dependent variable?

MO € Hon bt

t 0 1 2 3 4 6 |
571 | 48 27 | 30 2t 3 |
d. Is this a function? Why or why not? |
Yes beranise each domasw~value. 15 Pm;Cd Wé @‘«4-0“’51
N renge volue
5. For each rule, complete the tables below. Show the calculations in the “wdrk” box.
a. y=3x—-12
X -2 -1 0 1 2
3(-20) -1z 3(-1N - 12 (o) =12 | 30) -2 3R)y-\2
< ~Yo - |2 -3 - {2 - -
Work 3~ o -12 3 1 L -V
; 13 e vy e o L
b. y=x*—2x
X 2 -1 0 ‘, 1 2 |
(D261 (NEA) | (@F-2b) | O | (2)-2102)
Work 4 +y 2 O -6 | -1 '—t-—L-t
y ' 3 o) | o
C. y — 3)(
1 x 2 1 0o 1 2
| 3-' ra 3""‘ 30 3\ 31
Work ! { i
aZ = — - L
3 3 3° 7
LY < L B > 9
“ fo)




6. Draw two graphs that are functions,

7. Draw two graphs that are NOT functiohs.

7

71

i

B
N

l

8. For each of the graphs below, decide if they are a function or not. Justify your answer, If
they are a function tell which of the families of functions it belongs to.

a. : ﬂ b.

Function: Yes of
Why 4 Awgﬂ‘-—\—'—

% e VLT,

s e

Family:

Vo

Function:@gr No
Why_ W pasges

Function@;r No

Why_\{_ passes the

e VLT,

N

Family: (711\')’\ (&

Family: _Cém

Function{Yes pr No

Why_ 1+ posers by

VT,




9. Fillin thg table below.

Family Name Shapi;{;‘lﬁf raph ProPEZﬁE;:: the Example Equationsvff:.;f;__g?
Linear / “‘i:M%-ﬁ—\D = 2/)Q -
b Ao L
Quadratic U ¥ has to be ><(:2“ I+ BX
%%oarc;&
Cubic ' / X Pas to be L’X\S — 7
cubed
L has fo bave |2
Rational a4 dwnded —
(—\l by %K. %
. X 15 the A
Exponential
‘j exponent: 3
Absolute Value /\\//? Tn bas -Hj:_ bﬁ \ Q_ X E
X has o b
Roots undesngacth. tha A3+X

radical S\'IMEoi




10. Consider the situation described below...

A bus is driving at a steady pace down the road. The bus then slows down and comes to a
stop whife the first student climbs aboard, The bus then speeds up and then continues driving
at a steady pace. The bus then speeds up again as the speed limit for the road increases and

then continues driving at this faster speed. The bus then slows down and comes to a stop
' while the next student climbs aboard.

Sketch a graph showing the speed of the bus as it drives down the road.

¥y

Speed

Minutes

11. Consider the graph below. It illustrates the attendance at a museum over a period of days.

Number of
Visitors

Minutes

Describe what is happéning during each part of the graph.
A “The alendance 18 hig\N S 15 constand.

B The_atkendance  decrrase S

¢ The_cdlendance. 1s_(ostant

D “The adken dancg decreaseS.

e No one g at dhe wuScu .




Pythagorean Theorem and Distance Formula

12.Pythagorean theorem only works for (\%1\)(\5' triangles.

¢ N 2 T
13.The Pythagorean theorem states that &+ b - o

14. Which of the sides on the figure below is the “hypotenuse”? How can you tell?

ﬁﬁﬁﬁﬁﬁﬁﬁ

10 L‘/ 10 bﬁCCLLLS‘(_, v .I% auogs; ‘C(DN\-..
' “ao ua\r\ﬁr aﬁ%\t ard o 1S

“he  _longest e |

15. Find the missing side length, x, in each figure below...

6 m.

a. b.

12 m.

L4t =x*
o + 4y = x*
(R0 = k>

KETom) Xz 13Um)

16. For each of the following groups of side lengths, determine whether or not they would form a
right triangle. Be sure to explain your answer or show work to demonstrate you reasoning.

a. 15ft., 9ft., 12, ft. b. 2in, 7 in., 6in.
R ey b
g+ gy = 228 H 4+ 3L =249

22S =225 4o #49
Yﬁs No

17. A car drives due south for 120 miles, then turns and drive due east for 200 more miles. Ifa .
plane traveled this same distance, but could fly in a straight line from the 1* destination to the
2" how many miles would the plane be traveling?

.. 120% 4 200% = y L
14,400 + H0bo0= X+

“a A .
T~ i =y 400 X z

e b

200 rubeS X 222,72 amiles

120 m les™ ~




18. Find the perimeter of each figure below...

a. 7 m. b.

9m 5.0

Aty xrzat
4y wat =8 ]
\-? -9 1+ S 749

o
AR ST Iwm

19. Find the area of each figure below...

4 ft 2 ft
Ytiyts <2 \;f‘g L
37/+x"*-2.5 a3’ .37
i “H A= _C B
A L 91
X 3

11 cm

o +L.a+13 @Q,q@;\?

ii«-kx"'-—

Coptaxto gyt
13cm. (R RX= L
: -1 ~10.4
J x* =/ €
L.3 cem
X &9

(Note: Area of a Triangle = 2 * base * height)
a. N ' b. «

Ixtapo

ARY.§

20. The distance between two points can be found by using the following formula...

dz\/(xz—x

1}2 +()/2 _y1)2

Use thls formula to find the distance between each of tge fol!ow;nqlpalrs of points.

a. (1 8) and (2 13)

b. (4 7) and (6, -9)

C:[ :J (2__‘}1.‘\_(

='\l I 415
= (70 b Slunds |

13r%)L

— Y

21. Find the distance between pomts A and B on the grid.
12410

| + {00 lX.
01 = v:;.l

x‘l‘

S={TC-)Ex ((9-1°

d= J oy ()t
d=vioo + 256 =

N




22. Find x and then y in each figure below.

Find %
> | LEAIN? 299
y e 22 em. X* 4 2?: gl
X
-
6 cm. 17 cm.
b. 50 m
: G A
~ 12m s -y L' . "]
y 19 m.
\ / 335.3

Fund N . '

1 y 2 D A
x:n =17 3537 + 127 =y *
X4 1:1 = 33 i 1246

.. ’L
x> =/ ) L
LXV‘ 4.7 Mi\ |

23. Paul has a box that has dimensions 16 in. by 5 in. by 4 in. What :sthelpossnble
length that an object could be that would fit inside the box?

Fund w. . Fundyy . |
A I O TR S
226+l =t 292.25% 25t

o =/ m sl

Sl (ﬂ'@* ﬂ.lla—»!}




_,;_'-f"::';rest Review: Transformational Geometry

: 7% 24. Use the drawing to the right.

a. Name two pairs of same-side interior angles.
haa, j+b .
b Name two pairs of alternate-interior angles
a4 Q) 3 h 4 b i
c¢. Name four pairs of corresponding angles.
Jea, hie, Lab J+F
d. Name four pairs of vertical angles.
h-&.l,; ﬁ*\; J G‘*-{:) ¢¢‘O
e. Name two pairs of supplementary angles that are NOT same side interior.

Ly . oy
VGO =120 -0
f. Suppose m<i=120° find m<h={26" m<b= |906° m<a= LO°  M<j= gee

g. Suppose that m<h = 3x + 12 and m<a =4x—7. Find m<h and m<a.

Supplementeny AN .

x4 |2 + Hx -1 =1€0 3w+ Y~
2% Ix o+ /é =182 3SHL Y (25, ~1
3 ‘

”1 7

et

b =y
h. Suppose that m<g = 5x — 31 ano?‘mqc = 4x —10. Find m<g and m<f.

Cw\ama\s\“‘ . X ;0
Sy — 1 =L ~|0 S(?;Q"Bl | | L,‘(zﬂ-—l()

Ix ~ 3l =-10
v+3y 30

X =21




Fund 3¢
IOX = 25440 -
—2x -lx | .

25. Findxand y.
a.

8% =40
g ¥ x= S
X?—S &

Fend x . Fudy . =l o
l -t — |
fox + 2x v+ 4O =180 be I.b = 1. v=_ . b

(2% -H;i’?/ =80
~ O -qO
2k = \\19_

12 2 x=u.b
26. Find all the angle measures in each triangle below.

a. - b.




A Yx + 334.-4\'(2-4'2_{“”‘{31 =180

AQx =990 =180
+ +90

I =270
1 <A= [20°
K= &
| 30 - a2

LC

2(30) ~lo2 <C=_N2
(20° 90 +1L Lo — o)
jO2° e

| Not a.,fm;l"gh“"

problem
2%+ X 1+ 2x-S =180
S* ~z’—— \?D
\?S— o
A=
s 5 w=_6l”
LA L C X =37 <B=_371°
T ©
20)°S @) <c=_T74°_
69° 74°
27. Find the measure of each of the angle below...
LM
3R +20
L3y 10 M= §3
N3
s ‘g <N=_ L4]°
4+ 23x420 = Hwx+40 L MO LMop <MON= SL°
bl = Ux+HO SEYHLAX=RO 4 ()0 .
j ~3x eqqyo  MOP=LIM
=y ¢HO
vl-to -HO 14

2V = X




B iy
b.
x-_2)
.«:I =‘:.- _ 3
ZNVX INYZ | <V i__b
l + x=150 <VYZ:-—§9§__{Q—
X = 76

| 28. Which of the following words means the same size and same shape?

a. Similar b. compare d. translate

29. Describe in words each of our rules for:

L RomtgS0’ X and Y swdch Juahios v changes o
S v DWQ’S«.K- .

2 Réflecting over the x-axis. ¥ «g,-}a,\ls Hhe, Same and 3@ c}w\%CS +o
: o s ogpo‘s:v X '
3. Translating right 3 and then down 2.

add 3 4o dhe x coordunate. 4 sbivach l%w\,\{

hen you rotate a figure it gets bigger. TﬁRUE o
stify: %a:\’w:r\; a A U cha f\ﬂag ds enendehon, S
et size. of shape .

lain the difference between a “pre-image” and an “image”.

LF’“‘ Maqe. 15 e Ofigl;hj & e % NS A
me‘ ooy e «Hw\_s-garmg:}-s&r\




32. Complete the following transformations for each shape, by completing the following...
¢ |dentify the pre-image coordinates.
T e Find the image coordinates.

s Draw the new shape and label the vertices. (A’ or x’...)

a. Translate 4 DOWN. b. Reflect over the y-axis.
Ty : f Ty
£, A *
5 . ) /\ | %\\w g; g — §
4 ,/ \ ) i Ciﬁ /
: / \! ; \i/
N4 NS \i/
T7 \ VooV
p : é A/ \ 3 p 3

$ B p 5 4 3 B A 1 \ x £ -7 ¥ 5 -4 -3&2 3 4
2 \\* B 2
3. / 3

r\ :énmﬁ""m ._;\% )

.

A;@Q; v (s,2) A Q?ﬁ;fo} A (“"‘S,(J
BM B (b}
CM c_ {0 “"‘0 C (2 D) c

Rule: (X\.’\}% (X )\'I”L‘i\) Rule: (Xg\!) ) C“‘X\Y;




 ¢. Rotate 270 degrees d. Translate 1 left and 5 up
' V

y ~ y
- KT
/ [HRND
\\ // / N
} . \
-B 1£ é...m___ \\
0 v N W
s 7 .5 5 4 3 B Y i 375_543/2 203 4 é :
1 . . / #
N
N 3 __“-___"_—'-—- 2

A (S)Q " adL-S) X §é,~53 x (3,0)

B3] o (-3 v_{=2,1 Y "(o\)

C (:QJS ) c [S,-2 o» F4,4) 7 (-5, \3
Rule: \XdJ - (\T :_-X) Rule: (Xg\lll)—ﬁ (:x-ig\llv—\’S}
a. Rotate 180° f. Reflect over the x-axis
S . ,\y \
-« )| ) P
# ] H
v'/ "
3 ,// \_\ ) \
] N .
- 6’;’ \ . \\, )
DS S A A A AR v N S A s ¥ Iy //\ {)
2 l( I L"
yd /
/ >

R 4, v (4,4) R E4,-4) r L4
S {21‘“0 s 2,1) s(2,0) s (3,0
r(24) v 2.u) @) (W)

Rule: (X:\?\) - (_"X'!"\/ Rule: (X\y‘t)*) (X,"\j\)




.-/;/
" g. Translate 2 right and 3 up h. Reflect over the y-axis.
J;Q/l S‘I Ty
3 -f;'.,.....
/ YR \
: £ia . 3 &
X DY RN
et AN,
y 1 k \.\ /
- / 3 — \ l/ — “
5%«:‘/—2 - x ey R x
NEN ' LN '
5 A
+

R (-2 1-) R'iO,S) v £4,-2) R f—""ﬂf)

si2.2 3 s “3) 3 5}
TLZ“‘!% T'ﬁj_gjj) T&) T l;z:"\)

Rule: CX{\!\} - (K#Zi\,] ‘)’3\) Rule: (Xt\” > (X; -

33.Draw all lines of symmetry for the following figures. _ |
a. b. '

34. For each of the following pairs of points, identify the transformation./ Was it\e rot'tion
(how much}, was it a reflection (over which line), was it a translation (which way and

how much)?

Pre-Image Image Transformation o
a 68 ~ B0 | Rolation _370° comadodadise
b. (-20, -3) (-25, 0) Tran ‘a-lﬂ __jéJf S MJ%}QS |

7100 | 01007) | @k Qe pogrkeckehiosd

C.

________ ) d. (3,-12) (3,12) Rellect ey P X —axis
e (0.0 619 | Trangwe, JeHf ad o1
f (14, -62) (62, 14) Kotahdn 90° cosduciaions -



35. Fill in the missing image points.

36. Find the scale factor of the dilation pictured below.

I\y

I ;

\
€7 ;

Pre-Image Transformation ) Image \
a. (EL\{BLL Translate right 7 and down 12 ( ]'5] -—*—%) :'
b. (-20, -3) Rotate 270° }/_..5 ; w} :
C. (-7, 100) Reflection over the x-axis. ¥ (-ﬁ‘ - ]o@>
d. (3,-12) Rotate 180° (-3 12.)
e. (0,0) Translate 4 left. (_.L.I \'C)) '\ :
f. (14, -62) Reflection over the y-axis. f_\,;q = b2

N } —

i L £ i

L 3

h 4

[

37. Consider the pre-image on the graph and the information below. Draw in the image

and fill in the pre-image and the image coordinates.

”
pd

Center of Dilation (0, 0)

- N 2y u] -1

Scale Factor =2

=l 1 2 th

b:l

\ Pre-image Image

DU A (-2,1) Ko (4,2)

\\\ R .
% 7 % 5 w4 3 b :1‘5;\\,\ 4 é . B ("’Zl "2’} B’ (““\'! l—&i)
TR c (2,-2) ¢ (u4,-4)
i
C r RUIe: (XiY) Q;)(‘?X lq/\!j =~




38. Describe the sequence of transformations illustrated in each graph below.

a. A b. ~
T Ny
\\\ \\
a " 2.8\ A t
L\\\ A ) i }@u:z..// .
b :-—_i—ﬁl <BE K % 5 4 B 2 g\:\\ < BEEE N W
1)_Qllec! ey AM\:—QKLS Qo!aie_,, 9Q@° M«d@&/
’(%ans{aic Ve 95 2). Tordak deon Y
C. \
x
/
INEEAN
T\\N& ’ \ y Dilake B{SF:
0 » 3 % 5 5 b 5} 1?}\“\ \\\ - 2) ’T(C?ﬂ%lq 2—-—* {(QMS_
) N ) vp 2,
il < cmé P




d.
\\ 1 /'/’)r’ﬂ’
et o Ol o e e
2 b o5 5 & P ¥271 ;
b

N

0 ki
) Tk el 5

Surface Area, and Volume

39. Explain what surface area of an object describes.

Surfacy fhea, 15 Hhae 5@@;_,@ on the ootsse ot B
an Obd%dﬂ

40. Explain what vo/ume of an object describes.

Volomu_ 15 Bt ampsed of space. on o
e, of o 3*&1%&&8?&\@‘ 6\13\};;0}-,

41.When finding the surface area of a pyramid, which height do you use?

Straight Height or

7
V/

\ //f{ L
s o
- I
42.When finding the.volume of a pyramid, which height do you use? T \¢ g

/ Straight or Slant Height




43.Fill in the blanks below...

Total # of Facés

a. Triangular Prism S
b. Pentagonal Prism 7
c. Square Pyramid S
d. Hexagonal Pyramid 1

44.For each of the following...
v" Name the figure
v" Find the Surface Area — show your work.
v' Find the Volume — show your work.

Shape of Base

gx%bkaficw\
S?%utkrfim

k&&@{iorw'

a. NAME: Cy\ww¥ﬂf
G 2 |« P
\_/ Surface Area - (Formula: ;)WVZJ, AT )
. o I I N
7 in. MAD v sy 4
Volume - (Formula: Aof @ . he )
~_ 2 | |
TS 7.05-7 $219.5 2D
7.0LS
b. NAME: SDWQ
Surface A;ea - (Formula: Lf YT V’l )
Hyr.g &
{&% 0% '?h?“})
Volume - (Formula: 1—}[3\ﬁ G )
Yl yp € €8

3

]

A4 b

|




. NAME: _ (oaa.,
q JL'i L o
5 Surface Area - (Formula: yr¢ F &+ @ V?Q X
\{?'S%%ﬁ %'SIﬁ"L‘#
srigr=Ct ¢S Y OIHTL DY T
28464 = ? Volume - (Formula: Y .. -
€4 =2/ wr . gt Yoy - 18,8 =%
(A q, S [ 3
A g4 % 2209 3w \
d.
2in
' Surface Area:
TR L4 R Ce-B
2-S =10 a-5=16 €S =40
8in. O
20
Volume: .
5 in. Pof & . k.

0 « %
1O | ‘ %VO iﬁhsl

NAME: "Thax\@u@/ Pnsm

Surface Area:

:/7_ b o g 'Le{? 2L
IR R ~
A -t =24
volume: 1S+ 268 +1\4+\l{@
Aot B . o




NAME: S@M 'R! Ceich

Surface Area:

g $vi | squaie
o o by o P T =Y
Yo o€ 1S e
o | 240 +bY %
LO 4 = 2MO '
Volume:
¢ rarois® T L perB -l
2y 225
A Sl g
Y
260
A &RiYs

NAME: Sﬂéocu'c P\IJ i

g.
i Surface Area:
8 mE.
3-+ §
Y+L4 =




S
45.You are helping your dad to build a sandbox for you little brother. The sandbox is in the [
shape of a rectangular prism that is 5 feet wide, 6 feet long, and 1 foot tall. How much sand

will you need to fill the sandbox?

P V= Act® - ko

Lf

\[:39-\

S P

S =30

46.You work for a cereal company and are designing a new cereal box. The box measures 12
inches wide, 18 inches tall, and 3 inches deep.

a. How much cardboard will you need to make each cereal box.

T o L2
I -3 =34 I8 72 =23k 3"%?—5“:{
\Q’i:"‘ Bb-2, ' 2V = SY-2
T2 . 437 + to%

2 37

b. How much cereal can you fit into your box?
Ve AeFR ks
12-% ; Y= 3L - \%

B @a“l(@ l—h3j

47. Acan has a radius of 3 ¢cm and a height of 8 cm. Find the volume

V= fofB . ko
2506 -
226 | (.vv\«%}




